R18FE 2019FE BEMEE SRACTORAB HEMRE

§2 BRZHALLS

H2.1
HE ]
PAV:N 53 DI e e 22 | o)
AACE IZIE Z AT e ®
LABC=1200 .............................................. @
ey
[fEam] ZABC=ZADE
[RIEFA]
AABC & AADE 128\ T
D&y AB=AD oo
@&D JXOED-N O
7= Z/BAC=2/BAD-ZCAD
=60°~ZCAD (DXY) ..
/DAE = ZEAC- ZCAD
=60°-ZCAD (@XVv) ..
®D LY ZBAC=ZDAE ...

@Be® XY AABC=AADE (g fiass)

@&y /ABC=/ZADE (&RDOxfAH) .
2)

[fEaw] B, D, E 13 —Efp E

[FEH]

/BDE = Z/BDA + ZADE
=/BDA+ZABC (@X")
=60°+120° (D@ X V)

" ZBDE =180° .covurrieeirrnreneecinanes

MLy B,D,Ei3—®Ef L CEAER)



H2.2
MR E]
ABCD [T IE ST weeeereneesencenens D
CM = DM eererererseseresnsassnsanannns ®)
A D
M
P
B C
1) [l AABP=AADP
A oL HH D
M
P
B C
[RERA]
AABP & AADP (28T,
DXy, AB = AD oeeereeeeresveseneens ®
HSARD T, AP = AP eeereeeereessessseenne @
D& v 5% AC 1L ZBAD % %5454 %
0).,6‘\ /BAP = / DAP (=450) .............. @
@DB® LY
AABP = AADP ceeeeeeeeeeeeeennnennnnns @
(IR FES)
(q.e.d.)

@) [#5#%] ABCM=AADM

Ars H 1D
' M
B C
[FEAA]
ABCM & AADM 128\ C,
DEY . BC=AD reeeeerrerrernesnnsunesnennennns @)
Dkv. ZBCM=ZADM (=90°) -
@D® LY
ABCM = AADM :eeeeeeeverseseeseseens ©
(TanHeffREE)
(q.e.d.)
3) [fiawm] ZAHP=90°
AN =D
3
S/ H
° M
P
/
O
B~ C
[FFEA]

®Xv. ZLABP=ZADP (kfi5fH) - @

©@kv., ZCBM=2DAM CGitinfs) - @

AADH 123 T,
Z/AHP=/ADP+/DAM (¥ EH)

=/ABP+ZCBM (@@Xx"v)
=/ ABC
=90° (@Dxy)

(q.e.d.)



